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Year 8 — Proportional Reasoning

Multiplicative Change

to do?

By the end of this unit you should be able to:
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|« Sobe problems and explain direct
I proportion

I Use conversion graphs to moke

: statements, comparisons and form
I conclusions.
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*  Understand and use scde factors for
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Want to know more?

Suggested reading
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Proportion: a statement that inks two ratios

Variable: a part that the vale can be. changed

Oxes: horizorital and vertical ines that a graph is plotted arond
Opproximation: an estimate for a value

Scale Factor: the muttiple. that increases/ decreases a shape. in size
Currency: the system of money used in a particular country
Conversion: the process of changing one variabke to another

| Scale: the comparison of something drawn to its actual size
i e e o S i B B S S

ame rate

4 cars of pop = £240 mg
4eans of pop = £240 < . ™
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This is @ mukiplcative change I
4 cars of pop = £240 o . I
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12 cars of pop = £7.20 1
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This multiplier s the same
i the same way that this
vould be for ratio
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Corwersion between currercies == BE= &0

Ths is awas a straight. Ine because as ore variable
incresses so does the other af the same rate

~  To muke conversiors between units you need to find the
poirt to compare — then find the associated pont by

Sometimes ths is essiest Il | Labeling of both axes Using Your graph
ff you work out how much I is vitdl Using a ruler helps for accuracy
one unit i worth first I Showing your conversion nes help as a “check” for
eq leanof pop = £060 | I soktions
I
== = . Ratio between similar shapes

£1=90 Rupees 4——— Currency is drectly proportional

£1=90 Rupees ~, o

Ongles in similar shapes do nol change
ea if atriange gels bigger the angles can
not go above 180°
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I Currenog s bR £10 = 900 Rupees | | The two rectangles are similar.
| » USiNg @ conversion graph I 3o ] 45m
| ii " ’ Convert 630 Rupees into Pounds I 8m _
I T | | Correspondng sides Note
| o~ E1=90 uﬁdu:D ~ 4/--650 + 0 =7 | L 3m - 45m ‘ - fm - Pm Dx Simpify to the
I - i D ] XC same. ratio
| 27 - 630 Rupees II Im 15m Im 5m
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Understand Scake Factor Draw and interpret scale digarams Interpret maps with scake factors
Th rectangles are sarm -0 100 - 1000
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This s a multpicative change x 10 x 100 x 1000
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Scdle factor can dso  Bigger corresponding side
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be. cakeulated by Smaler corresponding side
The car in real ife
is 210c
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2 | s
I
I
I
I
I
I
I
I

[em - 250m
W 250 100 - 25000

lem - 25000cm




